Spiel 1 Spiel2  Gesamt

Spiel 002 19:16|B 1 HAHN Ernst 57 + 49 = 106
B2 JURKOWITSCH Thomas 50 + 56 = 106
Spiel 004 19:34|B3 HINTERSTEINER Hubert 50 + 53 = 112
B4 STOLZ Leopold 60 + 60 = 120
Spiel 006 19:50|B5 JURKOWITSCH Marcel 52 + 62 = 114|# # #
B1 HAHN Ernst 56 + 55 = 111|#
Spiel 008 20:09|B2 JURKOWITSCH Thomas 57 + 45 = 102
B3 HINTERSTEINER Hubert 54 + 67 = 121|#
Spiel 010 20:26|B4 STOLZ Leopold 53 + 60 = 113|0
B5 JURKOWITSCH Marcel 51 + 50 = 101]|0
Spiel012 20:44/\B1 HAHN Ernst 4 4+ 65 = 109 |#
B3 HINTERSTEINER Hubert 67 + 58 = 125(# # #
Spiel 014 21:03|B2 JURKOWITSCH Thomas 51 + 50 = 101
B4 STOLZ Leopold 61 + 54 = 115
Spiel016 21:21|B 3 HINTERSTEINER Hubert 61 + 67 = 128|###0
B5 JURKOWITSCH Marcel 63 + 61 = 1240 ## 0 #
Spiel 018 21:43|B4 STOLZ Leopold 61 + 54 = 115|#
B1 HAHN Ernst 53 + 56 = 109
Spiel 020 22:03|B5 JURKOWITSCH Marcel 59 + 53 = 112|0 0
B2 JURKOWITSCH Thomas 40 + 49 = 89|0




